Soustava linearnich rovnic — grafické reseni soustavy rovnic
domaci priprava

1. Res graficky soustavu rovnic a proved’ zkousku.

a) 2x —y =3
—3x+y=-5
b) —4x —y =75
y—3=0
C) 2x+y =3
2y — 6 = —4x
d) 2x+2y =6
3x — 12 = -3y
e) 5x —2y =-—1

2:(x=3)=-10-y

f) xX—2y=-2
5 7
x=z-y




Soustava linearnich rovnic — grafické reseni soustavy rovnic
domaci priprava

Vysledky
1.
a) [2;1] L,=P, =3 L, =P, =-5
b) [—2;3] L,=P, =5 L,=P,=0
c) [x;3—2x] nebo [B—Ty, y]
d) nema feSeni
e) [—1;-2] Li=P =-1 L,=P,=-8

3
f) [1;5] Li=P =2 L,=P,=2




